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e of marks for the questions attempted by the student, marks

rmined according to the syllabus. In case the candidate attempts

more than the stipulated number of questions, subsequent questions will not be evaluated.

I. The test booklet contains total 50 questions.
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Candidate shall attempt any 25 questions. Each carry 2 (Two) marks.
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3. No negative marking.
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4. Onreceipt of test booklet, the candidate should immediately check it and ensure that it is complete

in all respect. Discrepancy, if any, should be'reported by the candidate to the invigilator within 10
minutes of receiving the test booklet.
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5. The answer sheet is in the form of OMR answer sheet. Candidates should blacken the circle
corresponding to correct answer. .
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6.  For each question only 1 (One) circle should be blackened. If more than 1 (One) circle is found
marked, the question will be treated un-attempted.
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7. Candidate shall be required to deposit OMR answer sheet with the invigilator.
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Unit - |

Hybridisation of central atom and geometry 1.

of the molecule in I? are -
(A) sp. linear

(B) sp’d, linear

(C) sp’, V-shaped

(D) sp’d? linear

The bond order and magnetic nature of 2,

032 Ion are -
(A) 3, paramagnetic
(B) 2, paramagnetic
(C) 2, diamagnetic

(D) 3, diamagnetic

n-bond is formed by - 3.

(A) Co-axial overlapping
(B) Co-lateral overlapping
C) sp overlapping

(D) None of thege
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(:yt( sp, ¥
@/ sp’d, ¥

(© sp’, V-aor

(%/ sp°d?, Wy

O7%am= # qumw Td gEO  UHE
FaTZe—

(A) 3, ITgPIg

(B) 2, gy

©) 2 vfagedm
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Which of the following have highest ionic
character?

A NaQy

\BY Nafk

Y Nal

(DY NaB:

X Which method is used to caleulate % ionic

character?
(A} Hannay and Smith equation
(B) Pauling method
() Both (A) and (B)

(D) None of these

6.  Which s the correct formula of radius ratio?

(A) RI/R]
B) R3/R;
(C) RY xR;
D) R = R!

7. Which type of hyvdrogen bond is present in

O-nitrophend|’

(A) Inter molecular H-bond

8)
©©

Intra molecular H-bond

Both

D) None of (ege

[1207)

4. Frafafea 4 Q feaw sfmas aafre o

2

(A): Na(l

(BY NaF
(Y Nal

(DY NaBr

5. wfwd aifie quent & qUAr &E @
GNCR S
(A) &0 a Rery wfieneoy
(B) - uffei fafy
(© (AT (B) &
D) IR ¥ § P TE)

6. 9 3§ @ By aqua & 9 ¥ o W

87
(ALK /R;
(B) R3/RY
(©) RE xR
(D) R; —R!
7. MG § by aeR & aggeE
11 Suiderd Qar &?
(A) Al YD RIGEINA 6
(B) « Jaul¥an BN 4y
() A

L IRSUNEREE: BN EEA R
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8  Which defect is shown b

"

crystal?
(A)  Schottky defect
(B) Frenkel defect
(C) Both
(D) None of these
9. Which type of bonds are present in 9,
CuS0,4.5H.0?
(A) Ionic & H-bond
(B) Ionic & Covalent

(C) Co-ordinate, Ionic & H-Bond

(D) Ionic, Covalent, Co-ordinate & H-

bond

10. Which bond does not
hybridization?
(A) =-bond
(B) o-bond

(C) Co-ordinate bond

(D) All of the above

11207] Page 4 of 16

AgBr 8.

take part in 10.

AgBr @1 el [bdl W1 oy o i
Har &?

(A) wifea Ffe

(B) sh=per Ffe

(C). i

(D) SWw § Q 1

CuS04.5H,0 ¥ f&8 USR F1 9 Tafra=
g 87

(A) Imafw vg H-qy

B) e & FEEgTS

(C) STHEHaT®, I 1 H—au
(D) IMaf%, Fewdas, STEHaTHS

g H—3u

= & X B9 w9 wewor ¥ w8
o 87

(A). m — 39

B) o-ay

(C) SUHEHTTS g

(D) SRIF T
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14.

of alkaline metals in liquid NH3?
(A) Blue

(B) Bronze

©)

Deep Blue

(D) Green

15.  Which product is formed by the reaction 15.

between potassium and oxygen?
(A) Oxide
(B) Peroxide
(C) Superoxide

(D) Not react

16. Used to measure the thickness of sheets of 16.

metal -
(A) Xe-56
(B) Rn-88
(C) Kr-85

(D) Ne-22

[1207) Page 6 of 16

What is the colour of concentrated solution 14,

aréra et @1 %9 NHs ¥ 59 @iz fews
&1 37 e @ -

(A) ren

(B) - T&X A SI¥Al

(C) & el

(D) &

URRRrM ud sifeliom & mea fbar 9
HF A IAIE I B?

(A) ifFargs

(B WiFwgS

(C) grafawEs

(D) frar & wvan

oY A TGER B A A ¥ v
R § —

(A) Xe-56

(B) Rn-88

(C) Kr-85

(D) Ne-22
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17.

18,

19.

- 20.

' [1207]

The value of Cp/Cv ratio for noble gases
is -
(A) O

(BY 1.33

(€C) 1.66

(D) 1

Which  gas is used in gaseous

thermometer?
(A) He
(B) Ne
(C) Ar

(D) Xe

For an asthma patient, which of the
following lifesaving mixture is used?

(A) Mixture of He & O,

(B) Mixture of Ne & O»

(C) Mixture of Ar & O3

(D) Mixture of Xe & O

Shape and hybridization in XeFs molecule
is -

(A) Tetrahedral, gp3

(B) Square planner, dsp?

(C) Square planer, sp3d?

(D) None of thege

17.

18. ,

19.

20.
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PR NHl 8g Co/Cv I I &1 A7 2l
& _

(A) O

(B)
(©)
D) 1

g omiirer & A 8§ @ 319 @ oW
YT HR &2

(A He

(B) Ne

(C) Ar

D) Xe

FRA & W @ forg, e 4 ) B9 W
R fsor &1 g ey 82

(A) . He T O, 571 fiysyor

(B) Ne T O, %1 fAstor

(©) Ar 9 O, & s

(D) Xe T O %7 fAsmo

XeF4 3] & Suifacft vd wepwor gamsu —

(A)=TTHADH, sp*

(B). TSR FAINA, dsp?
(C) TNHR oA, spid?
D) SR F q 3 78
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Unit - ITI ~l

21.  Which metal ion is mixed with ALO: to 21 ALO:# F¥ E o7 I B w wfa

give ruby? T BT 87
(A) Cr* (A) Cr?
(B) Fe* +2

(B) Fe
(C) F€+3 (C) Fe+3

22. Inorganic benzene & inorganic graphite 22. IHEMG FHE [T AFEEAD VHSC

are - % -

(A) B3NaHs, B2Hs (A) B:N:Hj, B:Hs

(B) BsN:H;, C (B) BeNiH;, C

(C) (BN):Hs, Na:B4Oy (C). (BN):Hs. NHEBJ.O?.
(D) B:N:Hg, BN (@) B:N:Hs, BN

23. 'Which metal produce green flame during 23. Wﬂ%ﬂ*ﬂ'ﬂ??ﬁ:{ﬁa@?ﬁﬁw

borax bead test? a2

(A) Cr (A) Cr

®B) Co ®B) Co

(C) Ni (O

(D) Mn D) Mn
. [1207) Page 8 of 16
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07]

What 1 obtained as a tinal product on more
hoating orthobope actd

(A) Borate

(B)  Borax bead

(€@ Bone Oxide

M BLC

Which of the following shows inert pair
effect”
(A} Boron
(B) Carbon
(C Tim

(D' Sihicon

Formula of hydrazow acid is -
tA: N:H

(B NH:

(C) N3

(D) HNO:
Wha is the oxadation state of central atom
in NH: & NO:?

(A +3, +4

(B) -3.+4
+3. +2

{C)

® -3,-2

M.

2S.

27.

Page 9 of 16
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Jare & wu ¥ @ oura A 82

(A) ane

(B) A& HTHT

(QaRF JiRITTS

(DY BsC

fr % § @ afra g wra weffa s
27

(A), 381

(B) rad

(C) &=

(D) Rufaf

FESIIED I BT A & -

(ALNH

(B) NH;

(C). N3

(D). HNO,

NHid NO: H &1 UReTo]p a1 sifarfiem
gl Fq 8?

(A)  +3, +4

L,BJ, 3, +4
(C)  #3 +2

ny -3,-2




M. During Haber s process whieh meial 15 I8 wae w4 A0 g, g,

st e pwvitive catalve TR L A 2

A Bk My (A} Fe 1Mo

™ Mo m Mo

1 K 'y Pr

™ e &M (M Pedapr

29 Correct andet of databity of hydrides 2. eggtgan & senfron m wh o B -

(AY NH«> PHi> AcHo> ShHL (A) NHi> PH, > AsHy > Sbi;

B NH.< PHi< AsH. < ShH+ (B) NHi< PH. < AsH; < ShH,

1y PHo» NH > AsH- > ShH. (C) PHi> NH. > AsH, > ShH,

(M NH.> AsH > SbH. > NH: (D) NH.> AsH: > S » NH.

M. Which clement belongs o the followmg 30, fasitafia gorcit a fvare fase .

ehoc o conligursion” aqfeyer &7
Ks)4d "5 Sp’ [hr] 40" 847 5p!
(A} A (A} Ay
iB) Sb () Sh
iy B ) B
m v ) p
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Unit - IV FHE-1V

Which allotropic form of Sulphur is called  31.  W&®R BT B U1 STWEY UEHHaE UH

Monoclinic Sulphur?

W HEeTTer 87
(A) o - Sulphyr (A) O~
(B) B - Sulphur (B) B—wewy
(©) - Sulphur (C) T
(D) All of the above (D) - SRR G
Structure of O5F, is - 32/ O2F, & =T 8l & —
(A) Linear (A) * &

(B) Square planner (B) TR ETy
(C) Open book like

(©) Hehl fbae &1 ave
(D) Tetrahedral

(D) agEHeBTE

Ozone is a -

33. A= @ —

(A) Isotope of oxygen (A) StRiST P

(B) Oxides of oxygen (B) 3o F1 sifvases

Allotrope of A
©) otrope ot oxygen (C) IR BT oy

(@) Compound of oxygen "
(D; AT 1 Qe

| 207]
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34.  Diatomic oxygen molecule show - M.
(A) Paramagnetic nature in gaseous
state
(B) Paramagnetic nature in hiquid state
(C) Paramagnetic nature in solid state

(D) All of the above

35. How many water molecules are in hypo?

n

A) §
B) 4
© 3

o 2

36. In group 17* which element has maximum ~ 36.
electron gain enthalpy?
(A) Fluonne
(B) Chlorine
(C) Bromine

(D) lodine
37. Correct order of acidic strength is - 3.
(A) HOF > HOCI > HOBr > HOI
(B) HOI> HOBr > HOCI > HOF
(C) HOI > HOBr > HOF > HOCI

(D) HOF > HOI > HOC1 > HOBr

[1207] Page 12 of 16

’ L - — B
Rurnfday St 3o gEfdte FwF 2 -

*
w

(A e sawn ¥ gy o
(B). @ W R IFYEIPT ogfy
(O W yaRr A FFEEAT T
(D TR @

I A P S @E @ avthm ae
A 5
B 4
() 3

(m 2

WE-17 ¥ Y o @ @S w1y &
EIRECINE I G S R

(A TiR=

(B) -~ I

(©) =

D) A

IR GeaW @ gl aw @
(A HOF > HOCT> HOBr ~ HOL
(B HOL HOBr » HOCL S HOF
(Y HOLS HORp > HOE S HOCT

M HOES HO > HOUCTS HOR,
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s - . - . : : T TET T :
38. et chemicaj frmula of Camnallite - 38. FEEE T R LS I R

P

(A) CaF
2 (A)y CaF;

(B) KC
I MgCl- 6H-0 (B) KCI.MgCl;.6H:0

(C) KiSO( AL <
2CALSO) - (C) K2S0:.A150:):

D) HCIo
(D) HCIO

. Which h : ;
39 'hich halogen aror show alkaline nature 39/35'1'? 1 BATAT A AT e, ggfa

and C&pab]e 1o male = ] - - . - \ .
ake X=ion’ AT & U9 XP WG a9 § e 27

(A) F (A) F
(B) CI (By CI
(C) Br (C) Br
(D) 1 D) 1

40.  Which product is formed when excess F»  40. ¥ I®OE & ®Y ¥ q07 a9 ow e

react with Xenone at high temperature and @ W F, 3@ 4§ Ni 38RT & gafkefy
600 atm pressure in the presence of Ni q 9% a9 T 600 atm T@ W AT wRa
catalyst? 27

&) XeF: (A) XeF;

B) XeFs (B) XeFs

C) Xeks
(C) XeFs o
(D) Not react (D) I S T e
[1207] Page 13 of 16
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4L Conjugated acid of OHF jon is -
(A H:O
(B) HQCQ
©) HO
(D) None of these

42.  According to solvent system theory . which

10N is present in excess in an acdic solution

if acetic acid is taken as a solvent?

(4)  CH;COOH?

(B) CHsCOO*
(C) H:O°
(D) CH;COOH

43. Behaviour of acetic acid in liquad NHG s -
(A) Weak acid
(B) Strong acid
(C)  Weak base

(D)  Amphoteric

[1207]
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(A H”
(B HUOL
© RO
) IR LI RS
R @3 NQ0 # vy
T Aeos D> ey =
REmE @ w0 & co0s
¥
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B CHC00
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T A ] WLt

e
in above equation Lewis base is - f ,
T Y IS v &
R 8 -
A) L @A 1
® (B) 1-
© 13 © I-
3
(D) None D) N
one
45.  Which one of the following is limitation of 45 e 3
: ¥ BN W aREFw Rrgre
@1 A
Arrhenius concept? 3

(A) Free H® and OH® ions do not exist A) & 3
4R H® 7 OH: s
in water.
SuRad T B ¥
(B) This concept is limited to water

(B) uE Rl daa oo 70 @fg 2,

" only.

(C) Both (A) and (B) © e

(D) None of these D) T ¥ &g T&

46. Example of aprotic solyept are - 46. W femmd B g § —

(A) CgHg, liquid NH, (A) CeHo. TaNH
B 3

B)  CeH, liquid SO, (B) CoHo. %3 SO

() Liquid NH;, H,0 (C) &dNH;:. H:0
3. 2

M) H,0, liquid SO,
(D) H:0, @S0

[1207]
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47 Which type of behaviour is shown by urea  47. &9 arafern # IR 56 gw a1 TAER

in liquid NH;? gefifa @l &7

(A) Basic (A) &mid

(B)  Amphoteric (B)‘/gwu’ﬂﬁ

(C)  Neutral (C)» IETA

(D) Acidic (D) T

48.  Example of Amphiprotic solvent is - 48. SwgNEE TS BT IR & -

(A) CH:OH (A) CH;0H

(B) H:0 (B) - H,O

(C) CHiCOOH (C) CH:;COOH

(D) NH; (D) NH;

49.  In the following which metal is not soluble  49. /= % ¥ H W yry TINH; ¥ goroia

in liquid NH3? T3 ¥
W A) Li
(®) N B)- Na
(C) Mg ©) Mg
(D) Be (D) Be
50. Liquid SOz is a good solvent for - 50. T SO, fq Ty B g T 2
(A) lonic compound (A 3mafye A
(B) Complex compound (B) F‘l’?" ..

(C) Both (A) and (B) ©) (A7 (B)

D) Wefaror e

i e e mEm——

(D) Covalent compound
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